Integer division up to 100 #5

21) 4275+ 95

2560 = 80

22) 5628 = 84

8366 = 89
236 -4

23) 3100 <+ 100
24) 294 + 21

504 + &4

25) 1536 + 32

2880 =+ 48

26) 2204 = 74

910 = 70

27) 1456 + 28

186 + 2

28) 4851 <+ 99

828 + 36

29) 170 = 10

2037 + 21
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32) 814 + 22

588 + 28

33) 6020 = 70

1025 + 41

34) 2112 + 24
35) 78 <+ 39

2106 =+ 81 =

14

1274 + 26

36) 396 = 22

2491 + 47

37) 1634 =43

272 + 34

38) 6622 = 77
30) 351 =9

5850 + 78

3913 =91

40) 5518 = 62

1794 = 46 =

20



Integer division up to 100 #5 (Solutions)

21) 4275+ 95 = 45

2500 + 80 = 32
8366 + 89 = 94
236 -4 =159
504 -84 =6

1)

2)

22) 5628 + 84 = 67

23) 3100 + 100 = 31

3)

24) 294 +21 =14

4)
5
6
7
8
9

25) 1536 + 32 = 48

2880 =+ 48 = 60
910 +-70 =13
186 +2 =93

26) 2294 + 74 = 31

27) 1456 + 28 = 52

28) 4851 = 99 = 49

828 + 36 = 23

29) 170 =10 = 17

2037 =21 =97

10) 6320 -80 =179
11) 0+17=0
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30) 912+ 57 =16

31) 2673+ 27 =99

32) 814 + 22 = 37

12) 588+ 28 = 21

33) 6020 + 70 = 86

13) 1025+ 41 = 25

34) 2112 = 24 = 88
35) 78 =39 =2

14) 2106 <+ 81 = 26

15) 1274 + 26 = 49

36) 396~ 22 = 18

16) 2491 + 47 = 53
17) 272 = 34

37) 1634 +~ 43 = 38

=8

38) 6622 + 77 = 86

18) 5850 - 78 =75

39) 351 +9=239

19) 3913 +91 =43

40) 5518 = 62 = 89

20) 1794 = 46 = 39



